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Christmas Addition

Solve the following word problems.

Santa had 20 candy canes. He found 30 more in his
bag and 50 in his sleigh. How many candy canes
does Santa have in total?

Rudolph found 25 presents in the living room, 35 in
the bedroom, and 30 in the kitchen. How many
presents did Rudolph find in total?

There were 15 Christmas trees in one lot, 25 in
another, and 40 in a third. How many Christmas
trees were there in total?

Mrs. Claus baked 30 gingerbread cookies, 40 sugar
cookies, and 15 chocolate chip cookies. How many
cookies did Mrs. Claus bake in total?

There were 35 red ornaments, 10 blue ornaments,
and 35 green ornaments on the Christmas tree.
How many ornaments were there in total?

The elves made 40 toy cars, 10 toy dolls, and 15 toy
trains. How many toys did the elves make in total?

Santa's sleigh was carrying 30 teddy bears, 30 toy
soldiers, and 15 toy robots. How many toys was
Santa's sleigh carrying in total?

In a Christmas party, there were 30 kids, 40 adults,
and 25 seniors. How many people were at the
Christmas party in total?
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